APPROXIMATION OF GENERALIZED HOMOMORPHISMS IN QUASI-BANACH ALGEBRAS

M. Eshaghi Gordji and M. Bavand Savadkouhi

Abstract

Let A be a quasi-Banach algebra with quasi-norm $\|.\|_A$ and B be a p-Banach algebra with p-norm $\|.\|_B$. A linear mapping $f : A \to B$ is called a generalized homomorphism if there exists a homomorphism $h': A \to B$ such that f(ab) = f(a)h'(b) for all $a, b \in A$. In this paper, we investigate generalized homomorphisms on quasi-Banach algebras, associated with the following functional equation

$$rf(\frac{a+b}{r}) = f(a) + f(b).$$

Moreover, we prove the generalized Hyers–Ulam–Rassias stability and superstability of generalized homomorphisms in quasi–Banach algebras.

1 Introduction

We recall some basic facts concerning quasi–Banach spaces and some preliminary results.

Definition 1.1. ([4, 20]). Let X be a real linear space. A quasi-norm is a real-valued function on X satisfying the following:

(i) $||x|| \ge 0$ for all $x \in X$ and ||x|| = 0 if and only if x = 0.

(ii) $\|\lambda . x\| = |\lambda| . \|x\|$ for all $\lambda \in \mathbb{R}$ and all $x \in X$.

(iii) There is a constant $K \geq 1$ such that $\|x+y\| \leq K(\|x\|+\|y\|)$ for all $x,y \in X$.

Mathematics Subject Classification: 46B03, 47Jxx, 47B48, 39B52. Received: January, 2009 Accepted: September, 2009



Key Words: Hyers–Ulam–Rassias stability; quasi–Banach algebra; p-Banach algebra; Homomorphism.

The pair $(X, \|.\|)$ is called a quasi-normed space if $\|.\|$ is a quasi-norm on X. A quasi-Banach space is a complete quasi-normed space. A quasi-norm $\|.\|$ is called a p-norm (0 if

$$||x+y||^p \le ||x||^p + ||y||^p$$

for all $x,y \in X$. In this case, a quasi–Banach space is called a p-Banach space.

Given a *p*-norm, the formula $d(x,y) := ||x - y||^p$ gives us a translation invariant metric on X. By the Aoki-Rolewicz Theorem [20] (see also [4]), each quasi-norm is equivalent to some *p*-norm. Since it is much easier to work with *p*-norms, henceforth we restrict our attention mainly to *p*-norms.

Definition 1.2. ([2]). Let $(A, \|.\|)$ be a quasi-normed space. The quasinormed space $(A, \|.\|)$ is called a quasi-normed algebra if A is an algebra and there is a constant K > 0 such that

$$\|xy\| \le K \|x\| . \|y\|$$

for all $x, y \in A$.

A quasi–Banach algebra is a complete quasi–normed algebra. If the quasi–norm $\|.\|$ is a *p*-norm then the quasi–Banach algebra is called a *p*-Banach algebra.

The stability problem of functional equations originated from a question of Ulam [21] in 1940, concerning the stability of group homomorphisms. Let $(G_1, .)$ be a group and let $(G_2, *, d)$ be a metric group with the metric d(., .). Given $\epsilon > 0$, does there exist a $\delta > 0$, such that if a mapping $h : G_1 \longrightarrow G_2$ satisfies the inequality

$$d(h(x.y), h(x) * h(y)) < \delta$$

for all $x, y \in G_1$, then there exists a homomorphism $H: G_1 \longrightarrow G_2$ with

$$d(h(x), H(x)) < \epsilon$$

for all $x \in G_1$? In the other words, under what condition does there exist a homomorphism near an approximate homomorphism? The concept of stability for functional equation arises when we replace the functional equation by an inequality which acts as a perturbation of the equation. In 1941, D. H. Hyers [13] gave the first affirmative answer to the question of Ulam for Banach spaces. Let $f: E \longrightarrow E'$ be a mapping between Banach spaces such that

$$\|f(x+y) - f(x) - f(y)\| \le \delta$$

for all $x, y \in E$, and for some $\delta > 0$. Then there exists a unique additive mapping $T: E \longrightarrow E'$ such that

$$\|f(x) - T(x)\| \le \delta$$

for all $x \in E$. Moreover if f(tx) is continuous in $t \in \mathbb{R}$ for each fixed $x \in E$, then T is linear. Th. M. Rassias [19] succeeded in extending the result of Hyers' Theorem by weakening the condition for the Cauchy difference controlled by $(||x||^p + ||y||^p)$, $p \in [0,1)$ to be unbounded. This condition has been assumed further till now, through the complete Hyers direct method, in order to prove linearity for generalized Hyers–Ulam stability problem forms. A number of mathematicians were attracted to the pertinent stability results of Th. M. Rassias [19], and stimulated to investigate the stability problems of functional equations. The stability phenomenon that was introduced and proved by Th. M. Rassias is called Hyers–Ulam–Rassias stability. And then the stability problems of several functional equations have been extensively investigated by a number of authors and there are many interesting results concerning this problem (see [1], [6]-[11] and [16, 17, 18]).

Definition 1.3. A \mathbb{C} -linear mapping $h : A \to B$ is called a homomorphism in quasi–Banach algebras if h(xy) = h(x)h(y) for all $x, y \in A$.

Definition 1.4. A \mathbb{C} -linear mapping $h : A \to B$ is called a generalized homomorphism in quasi-Banach algebras if there exists a homomorphism $h' : A \to B$ such that h(xy) = h(x)h'(y) for all $x, y \in A$

For example, every homomorphism is a generalized homomorphism, but the converse is false, in general. For instance, let A be an algebra over \mathbb{C} and let $h : A \to A$ be a non-zero homomorphism on A. Then, we have ih(ab) = ih(a)h(b). This means that ih is a generalized homomorphism. It is easy to see that ih is not a homomorphism.

D. G. Bourgin [5] is the first mathematician dealing with stability of (ring) homomorphism f(xy) = f(x)f(y). The topic of approximate homomorphisms was studied by a number of mathematicians, see [3],[7],[12] and [15], and references therein.

This paper is organized as follows: we prove the generalized Hyers–Ulam– Rassias stability and superstability of generalized homomorphisms in quasi– Banach algebras.

2 Main result

Throughout this paper, assume that A is a quasi-Banach algebra with quasinorm $\|.\|_A$ and that B is a p-Banach algebra with p-norm $\|.\|_B$. In addition, we assume r to be constant positive integer. We will use the following Lemma in this section.

Lemma 2.1. ([14]). Let X and Y be linear spaces and let $f : X \to Y$ be an additive mapping such that $f(\mu x) = \mu f(x)$ for all $x \in X$ and all $\mu \in \mathbb{T}^1 := \{\mu \in \mathbb{C} ; |\mu| = 1\}$. Then the mapping f is \mathbb{C} -linear.

Now we prove the generalized Hyers–Ulam–Rassias stability of generalized homomorphisms in quasi–Banach algebras.

Theorem 2.2. Suppose $f : A \to B$ is a mapping with f(0) = 0 for which there exist a map $g : A \to B$ with g(0) = 0, g(1) = 1 and a function $\varphi : A \times A \times A \times A \to \mathbb{R}^+$ such that

$$\|rf(\frac{\mu a + \mu b + cd}{r}) - \mu f(a) - \mu f(b) - f(c)g(d)\|_B \le \varphi(a, b, c, d), \qquad (2.1)$$

$$||g(\mu ab + \mu cd) - \mu g(a)g(b) - \mu g(c)g(d)||_B \le \varphi(a, b, c, d)$$
(2.2)

and

$$\tilde{\varphi}(a, b, c, d) := \sum_{i=0}^{\infty} \frac{\varphi(2^{i}a, 2^{i}b, 2^{i}c, 2^{i}d)}{2^{i}} < \infty$$
(2.3)

for all $a, b, c, d \in A$ and all $\mu \in T^1$. Then there exists a unique generalized homomorphism $h : A \to B$ such that

$$\|h(a) - f(a)\|_B \le \frac{1}{2}\tilde{\varphi}(a, a, 0, 0)$$
(2.4)

for all $a \in A$.

Proof. Putting c = d = 0 and $r = \mu = 1$ in (2.1), we get

$$||f(a+b) - f(a) - f(b)||_B \le \varphi(a, b, 0, 0)$$
(2.5)

for all $a, b \in A$. If we replace b in (2.5) by a and multiply both sides of (2.5) by $\frac{1}{2}$, we get

$$\|\frac{f(2a)}{2} - f(a)\|_B \le \frac{\varphi(a, a, 0, 0)}{2} \tag{2.6}$$

for all $a \in A$. Now we use the Rassias' method on inequality (2.6) ([8]). One can use induction on n to show that

$$\|\frac{f(2^n a)}{2^n} - f(a)\|_B \le \frac{1}{2} \sum_{i=0}^{n-1} \frac{\varphi(2^i a, 2^i a, 0, 0)}{2^i}$$
(2.7)

for all $a \in A$ and all non-negative integers n. Hence

$$\left\|\frac{f(2^{n+m}a)}{2^{n+m}} - \frac{f(2^ma)}{2^m}\right\|_B \le \frac{1}{2} \sum_{i=0}^{n-1} \frac{\varphi(2^{i+m}a, 2^{i+m}a, 0, 0)}{2^{i+m}} = \frac{1}{2} \sum_{i=m}^{n+m-1} \frac{\varphi(2^ia, 2^ia, 0, 0)}{2^i}$$
(2.8)

for all non-negative integers n and m with $n \ge m$ and all $a \in A$. It follows from the convergence (2.3) that the sequence $\{\frac{f(2^n a)}{2^n}\}$ is Cauchy. Due to the completeness of B, this sequence is convergent. Set

$$h(a) := \lim_{n \to \infty} \frac{f(2^n a)}{2^n}.$$
 (2.9)

Putting c = d = 0, r = 1 and replacing a, b by $2^n a, 2^n b$, respectively, in (2.1) and multiply both sides of (2.1) by $\frac{1}{2^n}$, we get

$$\|\frac{f(2^n(\mu a + \mu b))}{2^n} - \mu \frac{f(2^n a)}{2^n} - \mu \frac{f(2^n b)}{2^n}\|_B \le \frac{\varphi(2^n a, 2^n b, 0, 0)}{2^n}$$
(2.10)

for all $a, b \in A$, $\mu \in \mathbb{T}^1$ and all non-negative integers n. Taking the limit as $n \to \infty$ in (2.10), we obtain

$$h(\mu a + \mu b) = \mu h(a) + \mu h(b)$$

for all $a, b \in A$ and all $\mu \in \mathbb{T}^1$. By Lemma 2.3 the mapping h is \mathbb{C} - linear. Moreover, it follows from (2.7) and (2.9) that $||h(a) - f(a)||_B \leq \frac{1}{2}\tilde{\varphi}(a, a, 0, 0)$ for all $a \in A$. It is known that the additive mapping h satisfying (2.4) is unique [?]. Putting $r = \mu = 1$ and a = b = 0 in (2.1), we get

$$\|f(cd) - f(c)g(d)\|_B \le \varphi(0, 0, c, d)$$
(2.11)

for all $c, d \in A$. If we replacing c and d in (2.11) by $2^n c$ and $2^n d$ respectively, and multiply both sides of (2.11) by $\frac{1}{2^{2n}}$, we get

$$\left\|\frac{f(2^{2n}cd)}{2^{2n}} - \frac{f(2^nc)}{2^n}\frac{g(2^nd)}{2^n}\right\|_B \le \frac{\varphi(0,0,2^nc,2^nd)}{2^{2n}},\tag{2.12}$$

for all $c, d \in A$ and all non-negative integers n. By (2.9), it follows that $h(a) = \lim_{n \to \infty} \frac{f(2^n a)}{2^n}$ and by the convergence of series (2.3), $\lim_{n \to \infty} \frac{\varphi(0,0,2^n c,2^n d)}{2^{2n}} = 0$. Hence the sequence $\{\frac{g(2^n c)}{2^n}\}$ is convergent. Set $h'(d) := \lim_{n \to \infty} \frac{g(2^n d)}{2^n}$ for all $d \in A$. Let n tend to ∞ in (2.12). Then

$$h(cd) = h(c)h'(d) \tag{2.13}$$

for all $c, d \in A$. Next we claim that h' is a homomorphism. Putting b = d = 1 and replacing a, c in (2.2) $2^n a, 2^n c$ respectively, and multiply both sides of (2.2) by $\frac{1}{2^n}$, we get

$$\left\|\frac{g(2^n(\mu a + \mu c))}{2^n} - \mu \frac{g(2^n a)}{2^n} - \mu \frac{g(2^n c)}{2^n}\right\|_B \le \frac{\varphi(2^n a, 1, 2^n c, 1)}{2^n}$$
(2.14)

for all $a, c \in A$ and all $\mu \in \mathbb{T}^1$. Let n tend to ∞ in (2.14). Then

$$h'(\mu a + \mu c) = \mu h'(a) + \mu h'(c)$$

for all $a, c \in A$ and all $\mu \in \mathbb{T}^1$. Hence by Lemma 2.3, h' is \mathbb{C} -linear. Now, letting $c = d = 0, \mu = 1$ in (2.2), we get

$$\|g(ab) - g(a)g(b)\|_B \le \varphi(a, b, 0, 0) \tag{2.15}$$

for all $a, b \in A$. If we replacing a and b in (2.15) by $2^n a$ and $2^n b$ respectively, and multiply both sides of (2.15) by $\frac{1}{2^{2n}}$, we get

$$\left\|\frac{g(2^{2n}ab)}{2^{2n}} - \frac{g(2^na)}{2^n}\frac{g(2^nb)}{2^n}\right\|_B \le \frac{\varphi(2^na, 2^nb, 0, 0)}{2^{2n}} \tag{2.16}$$

for all $a, b \in A$ and all non-negative integers n. Hence by letting $n \to \infty$ in (2.16), we conclude that h'(ab) = h'(a)h'(b) for all $a, b \in A$. It then follows from (2.13) that h is a generalized homomorphism.

One can get easily the stability of Hyers–Ulam–Rassias by the following Corollary.

Corollary 2.3. Suppose $f : A \to B$ is a mapping with f(0) = 0 for which there exist constant $\epsilon > 0$, $p \neq 1$ and a map $g : A \to B$ with g(0) = 0, g(1) = 1 such that

$$\|rf(\frac{\mu a + \mu b + cd}{r}) - \mu f(a) - \mu f(b) - f(c)g(d)\|_B \le \epsilon (\|a\|_A^p + \|b\|_A^p + \|c\|_A^p + \|d\|_A^p),$$
(2.17)

$$\|g(\mu ab + \mu cd) - \mu g(a)g(b) - \mu g(c)g(d)\|_B \le \epsilon (\|a\|_A^p + \|b\|_A^p + \|c\|_A^p + \|d\|_A^p)$$
(2.18)

for all $a, b, c, d \in A$ and all $\mu \in \mathbb{T}^1$. Then there exists a unique generalized homomorphism $h : A \to B$ such that

$$\|h(a) - f(a)\|_{B} \le \frac{2 \epsilon}{|2^{p} - 2|} \|a\|_{A}^{p}$$
(2.19)

for all $a \in A$.

Proof. It follows from Theorem 2.2 by putting $\varphi(a, b, c, d) = \epsilon(||a||_A^p + ||b||_A^p + ||c||_A^p + ||d||_A^p)$.

By Corollary 2.3, we solve the following Hyers–Ulam stability problem for generalized homomorphisms.

Corollary 2.4. Suppose $f : A \to B$ is a mapping with f(0) = 0 for which there exist constant $\delta > 0$ and a map $g : A \to B$ with g(0) = 0, g(1) = 1 such that

$$\|rf(\frac{\mu a + \mu b + cd}{r}) - \mu f(a) - \mu f(b) - f(c)g(d)\|_B \le \delta,$$
(2.22)

$$||g(\mu ab + \mu cd) - \mu g(a)g(b) - \mu g(c)g(d)||_B \le \delta$$
(2.23)

for all $a, b, c, d \in A$ and all $\mu \in \mathbb{T}^1$. Then there exists a unique generalized homomorphism $h : A \to B$ such that

$$\|h(a) - f(a)\|_B \le \frac{\delta}{2}$$
 (2.24)

for all $a \in A$.

Proof. Letting p = 0 and $\epsilon := \frac{\delta}{4}$ in Corollary 2.3, we obtain the result. \Box

Theorem 2.5. Suppose $f : A \to B$ is a mapping with f(0) = 0 for which there exist a map $g : A \to B$ with g(0) = 0, g(1) = 1 and a function $\varphi : A \times A \times A \times A \to \mathbb{R}^+$ such that satisfying the inequality (2.1), (2.2) and

$$\tilde{\varphi}(a,b,c,d) := \sum_{i=1}^{\infty} 2^i \varphi(\frac{a}{2^i}, \frac{b}{2^i}, \frac{c}{2^i}, \frac{d}{2^i}) < \infty$$

$$(2.20)$$

for all $a, b, c, d \in A$ and all $\mu \in T^1$. Then there exists a unique generalized homomorphism $h : A \to B$ such that

$$\|h(a) - f(a)\|_B \le \frac{1}{2}\tilde{\varphi}(a, a, 0, 0)$$
(2.21)

for all $a \in A$.

Proof. The proof is similar to the proof of Theorem 2.2. \Box

Now we prove the superstability of the generalized homomorphisms as follows.

Theorem 2.6. Let $p \neq 1$ and ϵ be constant positive integer. Suppose $f : A \rightarrow B$ is a mapping with f(0) = 0 for which there exists a map $g : A \rightarrow B$ with g(0) = 0 and g(1) = 1 such that

$$\|rf(\frac{\mu a + \mu b + cd}{r}) - \mu f(a) - \mu f(b) - f(c)g(d)\|_B \le \epsilon \|f(c)\|_B, \qquad (2.25)$$

 $\|g(\mu ab + \mu cd) - \mu g(a)g(b) - \mu g(c)g(d)\|_{B} \le \epsilon (\|a\|_{A}^{p} + \|b\|_{A}^{p} + \|c\|_{A}^{p} + \|d\|_{A}^{p})$ (2.26)

for all $a, b, c, d \in A$ and all $\mu \in \mathbb{T}^1$. Then $f : A \to B$ is a generalized homomorphism.

Proof. Assume p < 1. By putting c = d = 0 and r = 1 in (2.25), we get

$$||f(\mu a + \mu b) - \mu f(a) - \mu f(b)||_B \le \epsilon ||f(0)||_B = 0$$
(2.27)

for all $a, b \in A$ and all $\mu \in \mathbb{T}^1$. Thus we have

$$f(\mu a + \mu b) = \mu f(a) + \mu f(b)$$

for all $a, b \in A$ and all $\mu \in \mathbb{T}^1$. By Lemma 2.3, the mapping f is \mathbb{C} - linear. Putting a = b = 0 and $r = \mu = 1$ in (2.25), we get

$$\|f(cd) - f(c)g(d)\|_{B} \le \epsilon \|f(c)\|_{B}$$
(2.28)

for all $c, d \in A$. If we replacing c and d in (2.28) by $2^n c$ and $2^n d$, respectively, and multiply both sides of (2.28) by $\frac{1}{2^{2n}}$, we get

$$\left\|\frac{f(2^{2n}cd)}{2^{2n}} - \frac{f(2^nc)}{2^n}\frac{g(2^nd)}{2^n}\right\|_B \le \frac{\epsilon}{2^{2n}}\|f(2^nc)\|_B,$$

for all $c, d \in A$ and all non-negative integers n. Hence

$$\|f(cd) - f(c)\frac{g(2^n d)}{2^n}\|_B \le \frac{\epsilon}{2^n} \|f(c)\|_B$$
(2.29)

for all $c, d \in A$ and all non-negative integers n. Let n tend to ∞ in (2.29). Then

$$f(cd) = f(c) \lim_{n \to \infty} \frac{g(2^n d)}{2^n}$$

for all $c, d \in A$. By Hyers' Theorem, the sequence $\{\frac{g(2^n d)}{2^n}\}$ is convergent. Set $h'(d) := \lim_{n \to \infty} \frac{g(2^n d)}{2^n}$ for all $d \in A$. Hence

$$f(cd) = f(c)h'(d)$$
 (2.30)

for all $c, d \in A$.

Next we claim that h' is a homomorphism. Putting b = d = 1 and replacing a, c in (2.26) by $2^n a, 2^n c$, respectively, and multiply both sides of (2.26) by $\frac{1}{2^n}$, we get

$$\|\frac{g(2^{n}(\mu a + \mu c))}{2^{n}} - \mu \frac{g(2^{n}a)}{2^{n}} - \mu \frac{g(2^{n}c)}{2^{n}}\|_{B} \le \frac{\epsilon}{2^{n}} (\|2^{n}a\|_{A}^{p} + \|2^{n}\|_{A}^{p} + \|2^{n}c\|_{A}^{p} + \|2^{n}\|_{A}^{p})$$
(2.31)

for all $a, c \in A$ and all $\mu \in \mathbb{T}^1$. Let n tend to ∞ in (2.31). Then

$$h'(\mu a + \mu c) = \mu h'(a) + \mu h'(c)$$
(2.32)

for all $a, c \in A$ and all $\mu \in \mathbb{T}^1$. Hence by Lemma 2.3, h' is \mathbb{C} -linear. Now, letting a = b = 0 and $\mu = 1$ in (2.26), we get

$$||g(cd) - g(c)g(d)||_A \le \epsilon(||c||_A^p + ||d||_A^p)$$
(2.33)

for all $c, d \in A$. If we replacing c and d in (2.33) by $2^n c$ and $2^n d$ respectively, and multiply both sides of (2.33) by $\frac{1}{2^{2n}}$, we get

$$\|\frac{g(2^{2n}cd)}{2^{2n}} - \frac{g(2^nc)}{2^n}\frac{g(2^nd)}{2^n}\|_B \le \frac{\epsilon}{2^{2n}}(\|2^nc\|_A^p + \|2^nd\|_A^p)$$
(2.34)

for all $c, d \in A$ and all non-negative integer n. Hence by letting $n \to \infty$ in (2.34), we conclude that h'(cd) = h'(c)h'(d) for all $c, d \in A$. It then follows from (2.30) that f is a generalized homomorphism. Similarly, one can show the result for the case p > 1.

References

- T. Aoki, On the stability of the linear transformation in Banach spaces, J. Math. Soc. Japan. 2 (1950), 64–66.
- [2] J. M. Almira and U. Luther, Inverse closedness of approximation algebras, J. Math. Anal. Appl. 314 (2006), no. 1, 30–44.
- [3] R. Badora, On approximate ring homomorphisms, J. Math. Anal. Appl. 276, (2002), 589–597.
- [4] Y. Benyamini and J. Lindenstrauss, Geometric Nonlinear Functional Analysis, vol. 1, Colloq. Publ. 48, Amer. Math. Soc., Providence, 2000.
- [5] D. G. Bourgin, Approximately isometric and multiplicative transformations on continuse function rings, *Duke Math*, J. 16 (1949), 358–397.

- [6] P. W. Cholewa, Remarks on the stability of functional equations, Aequationes Math. 27 (1984), 76–86.
- [7] M. Eshaghi Gordji, T. Karimi and S. Kaboli Gharetapeh, Approximately n-Jordan homomorphisms on Banach algebras, Journal of Inequalities and Applications, Volume 2009, Article ID 870843, 7 pages.
- [8] Z. Gajda, On stability of additive mappings, Internat. J. Math. Math. Sci. 14 (1991), 431–434.
- [9] P. Găvruta, A generalization of the Hyers–Ulam–Rassias stability of approximately additive mappings, J. Math. Anal. Appl. 184 (1994), 431–436.
- [10] A. Grabiec, The generalized Hyers–Ulam stability of a class of functional equations, Publ. Math. Debrecen 48 (1996), 217–235.
- [11] D. H. Hyers, G. Isac and Th. M. Rassias, Stability of functional equations in several variables, *Birkhäuer*, *Basel*, 1998.
- [12] D. H. Hyers and Th. M. Rassias, Approximate homomorphisms, Aequationes Math. 44 (1992), 125–153.
- [13] D. H. Hyers, On the stability of the linear functional equation, Proc. Natl. Acad. Sci. 27 (1941), 222–224.
- [14] C. Park, Homomorphisms between Poisson JC*-algebras, Bull. Braz. Math. Soc. 36 (2005), 79-97.
- [15] C. Park, Hyers–Ulam–Rassias stability of homomorphisms in quasi– Banach algebras, Bull. Sci. Math. 132 (2008), no. 2, 87–96.
- [16] Th. M. Rassias (Ed.), Functional Equations and Inequalities, *Kluwer Aca*demic, Dordrecht, 2000.
- [17] Th. M. Rassias, On the stability of functional equations and a problem of Ulam, Acta Math. Appl. 62 (2000) 23–130. (2001j:39042)
- [18] Th. M. Rassias, On the stability of functional equations in Banach spaces, J. Math. Anal. Appl. 251 (2000) 264–284. (2003b:39036)
- [19] Th. M. Rassias, On the stability of the linear mapping in Banach spaces, Proc. Amer. Math. Soc. 72 (1978), 297–300.
- [20] S. Rolewicz, Metric Linear Spaces, PWN-Polish Sci. Publ., Reidel, Dordrecht, 1984.

[21] S. M. Ulam, Problems in Modern Mathematics, Chapter VI, science ed., Wiley, New York, 1940.

Semnan University, Department of Mathematics P. O. Box 35195-363, Semnan, Iran Email: madjid.eshaghi@gmail.com, bavand.m@gmail.com

M. Eshaghi Gordji and M. Bavand Savadkouhi